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2019(0dd)  owasynabus

Time : 3Hrs. Sem - VI-E
N/W Thy.

Full Marks : 80
Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & wift ufg gl & SR <, IS U & 99 § b 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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11.

foa 4 3 M Acads &1 gar uRue
gfcraren yRrfier(2) sird aR |

Wrirte short notes on any two of the following :
(a) Series Resonance
(b) Circuit components

(c) Source Transformation

frafafaa & 4 & 31 wfdra fewof
o -

(@) =il 3rgATE

(@) uRuer 3rqaq

(W) =d sur=aRT

0T6022

(i)

(ii1)

(iii)

(iv)

3 20605C
f=faRaa & @ @19 fAfSpa 3@aq 2@
(31) ufo=ie

(3) giforex

(@) fparsfier yad®

(%) Suiqad g+

Kirchhoff's voltage law is concerned with ....
(a) Junction Voltage

(b) IR Drops

(c) Battery EMfs

(d) Both (b) and (c)

fowai®s &1 dices a9 |
wdfera giar 2 |

(31) ~fer areew

@) Mo 3MMRo §ﬁq

(@) dc faga arEs Id

(@) @) wa (@) <=

In pure resistive circuit, the phase angle
between A.C. voltage and current is...............

(a) 0’

(b) 90’

(c) 180"

(d) None of these
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9. Obtain the fourier transform of the wave form
shown in the given figure.

f(t)A

A

. 4

-T/2 (0} T/2

foa @ o A Uil W 9T = a1
HIRER YR SI1d B |

f(t)A

A

.

-T/2 (0] T2

OR (3121dr)
A resistor and a capacitor are connected in series
with a variable inductor. When the circuit is
connected to a 230v, 50Hz supply, the maximum
current obtained by varying the inductor is 2A.

The voltage across the capacitor is 500V. Calculate

resistance inductance and capacitance of the circuit.

0T6022 5 20605C
~vi)  fagrg e uRue ¥ gy &1 wH, Ue
Do sl © |
(a1) gHTFUTh
(@) gohargurdl
() wrer ®is dser 81
(?) s | Pz T
(vii) The average value for a pure sine wave form
IS teveeereeeie e times of maximum value.
(a) 0.707
(b) 0.637
(c) 1.11
(d) 1.414

(vii) I[@ WIS = T@AT =g Sirad M,
HETH A BT oo o7 BIAT © ?
(31) 0.707
(@) 0.637
(|) 1.11
(]) 1.414

(viii) A series circuit is said to be in electrical
resonance when its net .................. 1S zero.
(a) Resistance
(b) Impedance
(c) Reactance
(d) None of theses
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40 A
20 50
10
1A A

fod M Aecas & Gfl TEEt A feEie @
o &1 STAT B GRT BT 419 A1d DN |

40 1A
20 50
10
1A AAAA

Determine the current through the 5Q resistance of
the given circuit using Mesh analysis method.

10V
- 8V 10 40
20 30
NV
8
V. %

1

N91 fqwelver fafer &1 ST H) o T

uRuer & 5Q yfRig & gRT Yarfad aRT &1
HE S0 B |

0T6022

x)

(xi)

(xi)

(xii)

7 20605C

gRuer § yarfed &RT S A0 A D
forg 9 fafdr wed sarer g+ sirar 27
(31) 9w drecw fagayor

(@) "rs orT fagayor

(7)) reaRiue figr

(@) 37 9 BIg 7L

If there are 8 nodes in a network, the no. of
equations in the Nodal Analysis.

(a)9

(b) 8

(c)7

(d)6

afe foxft Acas # 8 AW 2 a1 Alsd
fagayor § THfiHRo B H&@AT
Bl 2 |
@1 9
@) 8
(@) 7
(?) 6

Fourier series expansion of an even periodic
function contains......................

(a) Cosine terms

(b) Sine terms

(c) Constant terms only

(d) None of these
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FEBHII T B ARAT N |

Distinguish between even and odd function.

4
9 Bold Ud a9y Bed & 9 X WS

Y |
OR (3121an)

Find the Fourier transform is :
(a) The unit impulse function d(t)

(b) The exponential function e

BRI wUIR 91d BN -
(31) gfre s9ed wald d(1)

@) ®=rdid) Be e

0T6022 9 20605C

xiii) IfE f(t) Y faod wea @ a gq@T
BIRAR U= f(iw) BT ATF ST |

(31) J f(t) cos wt dt
0

@) J f(t) sin wt dt
0

(@) J f(t) cos wt dt

-0

©) J f(t) sin wt dt

-00

(xiv)  The Laplace transform of a unit impulse

function is ..............

(2)
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GROUPB

Answer all Five Questions.
¥ uig gl @ SR Q|

2. State and explain standard input signal of step

4x5=20

function and exponential function.
4

WY Hold qAT A1did! Beld d AFSD 3IYC
Ra @ fod a2 AT a |

OR(37214T)

State and prove initial value theorem .

URfe 49 99" @ ford vd gaifdag &Y |

3. State and explain Kirchhoff's Laws with suitable

network.
4

foEie & Al & fad v garma aRkuer
b Tl sHB! AT B |

OR(37214T)

State and explain shifting theorem.

0T6022 11 20605C

(xvi) A two-port network is reciprocal if and only
if

©)Z,=2,
(d) None of these

(vi) TH Q-9 T Fopd glal 2, afs &
dad afe ...
@) z,=2,
@ z,=2,
@) 2,=2,
(]) 39 ¥ @Is LI

(xvii) For a two-port network, condition of
Symmetry is ..............

(a)AD-BC=1
(b)) BC-AD=1
(c)A=D

(d) None of these

(xvii) &1 UIE deqsd eqg Efdl &1 e 2.
(&) AD-BC=1

(d) BC-AD=1
(|) A=D
(@) s 4 BIg T8l
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